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QID : 201 - In the following question, select the related word pair from the given alternatives.

Rain:Clouds::?:?

oo uy & fow e fowedt & & &l wsg g &1 gful

Options:

1) Rice : Food
EICGINRCIE)

2) Grey : Colour
Jact : 3

3) Heat : Sun
it ;g

4) Snow : Mountains
Correct Answer: Heat : Sun

Candidate Answer: Rice : Food
rad : G T

QID : 202 - In the following question, select the related word from the given alternatives.

Cactus : Plant : : Rice : ?
frafafed vy & fou Te fowedt o 9 Teifta wsg &1 9T
o PR ) G - 1

Options:
1) Basmati

2) Crop
B
3) White

4) Rabi
il

Correct Answer: Crop
Had

Candidate Answer: Crop
T

QID : 203 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : ?

Frafafed vy & fau e fawed # 9 Heifta wrsg &1 g

LGICIER FRRI c- R

Options:
1) Black
Eall

2) Symbol
5]

3) Bird

gaft

4) Sky

STDTR

Correct Answer: Bird
geft

Candidate Answer: Bird
et

FRESHERS NOW
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QID : 204 - In the following question, select the related letter pair from the given alternatives.

TOM:NIG::?:?

oo wy & Ry e et & @ Sefa sier gm &1 gfu)
Options:

1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC
Correct Answer: EAT : YUN
Candidate Answer: [ NOT ANSWERED ]

QID : 205 - In the following question, select the related letters from the given alternatives.
LERI: PJVN:: MONT:?

frafafed uy & fow 7U fawedt & 9 9 sieri &t 9wl

LERI: PJVN:: MONT:?

Options:

1) WRTY

2) QTRY

3) RITY

4) RQYB

Correct Answer: QTRY

Candidate Answer: QTRY

QID : 206 - In the following question, select the related letters from the given alternatives.
SAT : WEX :: MET:?

frafafed uy # fau Tu fAwedl # 9 Fafd sieri o gHu

SAT : WEX :: MET : ?
Options:
1) AQI

2) IYX
3) FHY

4) QIX
Correct Answer: QIX
Candidate Answer: QIX

QID : 207 - In the following question, select the related number from the given alternatives.

43:7::23:?

frafoiea uy # fiw e fowedt # @ wefta ¥ &1 ghul
43:7::23:?

Options:

1)6

2)4

3)7

4)5
Correct Answer: 5
Candidate Answer: 5

QID : 208 - In the following question, select the related number from the given alternatives.

38:53::53:?
Frafefed vy & fag 7 el & @ deifia dem &1 ghu

38:53::53:?

FRESHERS NOW
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Options:
1)72
2) 68
FRESHERS NOW
3)79
4) 87
Correct Answer: 68
Candidate Answer: 68

QID : 209 - In the following question, select the related number from the given alternatives.
9:81::11:?

frafared uy & few Tu fawedl & ¥ defa g &1 gl

9:81::11:?

Options:

1) 78

2)93

3) 121

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 210 - In the following question, select the odd word from the given alternatives.

fafefad oy & fou e fawed & 9 faww wsg &t gFul
Options:

1) Goggle

A

2) Purse
o

3) Accessories
ERERSIEp]
4) Belt

E

Correct Answer: Accessories
GEREZIEPl

Candidate Answer: Accessories
TS Al

QID : 211 - In the following question, select the odd word from the given alternatives.

fafafad uy & fqu U fawed & 9 favm veg &1 gFul
Options:
1) Grapes

SR
2) Guava

3A=q
3) Cauliflower

4) Orange
RIGRI
Correct Answer: Cauliflower

Candidate Answer: Cauliflower

e
QID : 212 - In the following question, select the odd word from the given alternatives.

fuffad uy & fiou e fawedt & 9 faww wrsg &t gful
Options:
1) Sparrow

2) Rat
qel
3) Ostrich

4) Parrot

Correct Answer: Rat

e

Candidate Answer: Rat

<l
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QID : 213 - In the following question, select the odd letters from the given alternatives.

oo uy & 3w e fowedt & @ faw siert & gful
Options:

1) GCXTO

2) KGBXS

3) RNIEX

4) QMHDY

Correct Answer: RNIEX

Candidate Answer: [ NOT ANSWERED ]

QID : 214 - In the following question, select the odd letters from the given alternatives.

fafoRad oy ¥ iU U fawedl & 9 favm oieri &1 gul
Options:

1) SOKG

2) AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP

Candidate Answer: CYTP

QID : 215 - In the following question, select the odd letters from the given alternatives.

Frofoiad ny & faw e fowedt & @ fawy efarY 1 gful
Options:

1) KNQ

2) DGJ

3) wzB

4) TWZ

Correct Answer: WZB

Candidate Answer: WZB

QID : 216 - In the following question, select the odd number from the given alternatives.

frafafea uy & faw T et & 9§ favm e & giuy
Options:

1)7-11

2)12-16

3)14-18

4)9-15

Correct Answer: 9 — 15

Candidate Answer: 9 - 15

QID : 217 - In the following question, select the odd number from the given alternatives.

Frfofed vy # fiw e fawedt # @ faww Sem &1 gl
Options:

1)2-4

2)3-9

3)4-18

4)5-25

Correct Answer: 4 — 18

Candidate Answer: 4 - 18

QID : 218 - In the following question, select the odd number pair from the given alternatives.

fafoRad oy & iU U fawedl & 9 faww e gm & gl
Options:

1) 76 — 42

2)92-20

3)73-21

4) 93 -27

Correct Answer: 92 - 20

Candidate Answer: [ NOT ANSWERED ]
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QID : 219 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flagrant

2. Flavour

3. Flatter FRESHERS NOW
4. Flick

5. Flawed

Fafafed Weal 31 UGN H 3 aTd HH & IR g |

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254

2) 31254
3) 23541

4) 32541
Correct Answer: 13254
Candidate Answer: 13254

QID : 220 - According to dictionary, which of the following word will come at THIRD position?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

UEHIY &b SFER, FEfiRad & I B 91 Wsg A - W ARA?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

Options:
1) Hectic
2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: Heritage

QID : 221 - From the given alternatives, according to dictionary, which word will come at LAST position?

feu e famedl A ¥, TH B IR, D 7 s Siferd TIF TR SART?
Options:

1) Juvenile

2) Justify

3) Judge

4) Justice

Correct Answer: Juvenile

Candidate Answer: Juvenile

QID : 222 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
F,M,T,?,H,0

T S o 7 B, O 9 v ue g 71 U e st # ¥ 95 W€ fawed 9w, St 3w B R vl

F,M,T,?,H 0
Options:
1)B

2)C
3)A

4)D
Correct Answer: A
Candidate Answer: A
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QID : 223 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ROK, LIE, FCY, ZWS, ?
T 3gehd o T 8, o ¥ ue U g B U U faw et # 9 a8 uet e g, S o d & |

ROK, LIE, FCY, ZWS, ?
Options:
1) LAQ

2) SRV
3) TQM

4) FMQ
Correct Answer: TQM
Candidate Answer: TQM

QID : 224 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FAQ, LGW, RMC, ?, DYO
T 3rgshd o o B, e @ ueb ug g 21 3w e fawedt F @ a7 e faweu gy, S o Bl R B

FAQ, LGW, RMC, ?, DYO
Options:
1) VIR

2) XsI
3) LSI

4) MIS
Correct Answer: XSI
Candidate Answer: XSI

QID : 225 - In the following question, select the missing number from the given alternatives.
14, 22,49, 113, 238, ?
frafafed uy & fau 7 el # ¥ g sid 1d Sife|

14, 22, 49, 113, 238, ?
Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454
Candidate Answer: 532

QID : 226 - In the following question, select the missing humber from the given alternatives.
42,21, 21, 31.5,63,?
frafafed uy & faw 7 fiwed # ¥ g 8id 1d S

42,21, 21, 31.5,63,?
Options:

1) 169.75

2) 157.5

3) 152.5

4) 126.75

Correct Answer: 157.5
Candidate Answer: 126.75

QID : 227 - In the following question, select the missing number from the given alternatives.
14, 44, 135, 409, 1232, ?
fafRad oy & iU U fawedl & 9 g 8% 1d S|

14, 44, 135, 409, 1232, ?
Options:

1) 2962

2) 3340

3) 3702

4) 3406

Correct Answer: 3702

Candidate Answer: 3702
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QID : 228 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?

E, D 3R A % il ST &, B, A & aife+fl 3R &, C, T RR WX @ 3R C 3R D U G & 9711 # 93 ¢ AR BIF R B 97 &2

:-))ptDions: FRESHERS NOW
2)A

3)B

4)E
Correct Answer: E
Candidate Answer: E

QID : 229 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

T AEIYET SIS HT Hie! fEmd §U B 3 F8T i 50 St I § 3§ 39 far & far & ok A 3 g1 o 398 off i 8 9 Iuat ai ftl A, B ¥ fre ke Taifia &2
Options:

1) A'is B's mother's sister

A BB H P TR

2) Ais B's sister

A, BHI 57 8

3) Ais B's Father's sister

A BF B e 8

4) A is B's mother

A BIIHTE

Correct Answer: A is B's Father's sister
A BF B e 8

Candidate Answer: A is B's mother

A BHFH T

QID : 230 - From the given alternative words select the word which cannot be formed using the letters of the given word.
MERCANTILE

frafafad fowedl § ¥ a8 Wsg 9T ot 3T T Xeg & 31&RT BT TANT SR ol SR oIl Gabdl:

MERCANTILE
Options:
1) truce

2) learn
3) trace

4) claim
Correct Answer: truce
Candidate Answer: truce

QID : 231 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?

I OLYMPUS & &8 § MIWKNSQ foRaT STl § o TEN &1 sis H Jm feraie
Options:
1) RCL

2) GVM
3) SDM

4) UFO
Correct Answer: RCL
Candidate Answer: GVM

QID : 232 - In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the code
for 'watch'.

%W fAfErg sy & 1875 & GRT% ‘wound the round watch', 6143 &1 arf % 'a cake is round' 3R 7321 &7 37 % 'watch a round wheel'l 'watch' & ﬁﬂ PIS AT
|

Options:

11

2)8

3)5

4)7
Correct Answer: 7
Candidate Answer: [ NOT ANSWERED ]
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QID : 233 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
96x4+125+25-5=7?
frd Ffd Py H '+, - B YR FRAT ], -, X' B USRIA BRAT 8, X, '+' &I URid a1 8 8lR '+, '+' Bl YaRid &rar 31 Faffed Uy Srmnamiasm?

96 x4 + 125+ 25-5=7?
Options:

1) 23

2) 24

3)50

4)8

Correct Answer: 24
Candidate Answer: 24

QID:234-1f17$ 22 =44and 56 $ 13 = 7, then find the value of 71 $ 25 = ?

e 17 $22=43R56$13 =7, A 71 $ 25 = ? BT A 1T HL?
Options:

1) 56

2) 96

3)1

4)8

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID: 235 - If A$ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does X # Y * Z $ W mean?

TEASBH IR A BB TR, A4 BHI ST A BT USSR oR AR A*BHT SR fH A BHIRAEAX £ Y * 25 W BT T 3f 2
Options:

1) W is X's brother's wife

W, X & YT B 0all §

2) W is X's wife

W, X B! Ualt 8

3) W is X's mother

W, X BT A §

4) W is X's sister

W, X Bl T8 8

Correct Answer: W is X's brother's wife
W, X & HIS B Tell &

Candidate Answer: W is X's brother's wife

W, X & TS & uell &
QID : 236 -

Select the missing number from the given responses

e feeat & & qg w9

L

4
7 10
e 12

Options:
1)3

2)9
3)-3

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 237 - Which of the following terms follows the trend of the given list?
OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
fafifaa & ¥ o o1 ug < T G b HH & ATUR 72

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
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Options:
1) XOXXXXO

2) XOXXXOX

FRESHERS NOW
3) OXXXOXX

4) OXXXXXO
Correct Answer: OXXXXXO
Candidate Answer: OXXXXXO

QID : 238 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it
turns right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting
point?

TP Iy Hifedl & SHagR BT 3feqd= R TET 5| et WHT IoTaR 5 AdTHIeR IR B 3R Iadt 7 3R bR 78 arfesy Sh?ﬁm 11 Yfier T 31 R T g
MRt 3R geaR 3 FHiex o) § 3R b T8 UfEm B 3R goox 15 Fiier Tach 21 3id § U8 U9 91 3R Hedi § 3IR 2 JAHiex Tard! g1 et 3 3ot
TR fufq § wef &2

Options:

1) 4 cm East

4 ¥dtfier gd

2) 26 cm West

26 Yéfex ufdm

3) 4 cm West

4 Yérfier ufdm

4) 26 cm East

26

Correct Answer: 4 cm West

4 Yéfier ufdm

Candidate Answer: [ NOT ANSWERED ]

QID : 239 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the
meanwhile Player B runs 6 km South, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

3 Beala et e & e g foig I e TRy #3d 81 faret A, 10 ey gd & 3iR Srsar 8 3R ik a1 8k geaw 13 fhamier drgar 71 I a9y
@aﬁ% B, 6 fhaiiiex aféur &t iR et & quT fOhR 3 fhaiivieR Od 1 3R werl € iR bR 3ot a1 3R ggabe 19 e 31 RIeet B F Tl A et A
el 5?

Options:

1) 7 km West

7

2) 7 km East

7

3) 13 km East

13

4) 13 km West

13 fordidiex ufgm

Correct Answer: 7 km East

7

Candidate Answer: 7 km East

7

QID : 240 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science

usr o < HU e T € o o &1 ey 1 3R 11 FiepTal T B 1 et I ® T S U 9 © TR 98 e T1d aet i vefia 21 €l emuee! fAufa s
? o fou T st & ¥ P-g/e - i U T S gRT I8 e ST 9 8/9%d §, I PS8l

BYTI: O T Hifaes! §
HY I1: I g et @

foremd 1: ot foq oreama ¥

e 11: Bo i figH €

Options:

1) Only conclusion I follows

Fad ey 1 9 &

2) Only conclusion II follows
98§

3) Both conclusions I and II follow

S ey 1 3R 11 9t §

4) Neither conclusion I nor conclusion II follows

T feeef 1 9t § 1 & e 1

Correct Answer: Only conclusion II follows

aa fwpy 11 T8 8
Candidate Answer: Neither conclusion I nor conclusion II follows

1o e 1 9 § 1 & A 11
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QID : 241 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even_ifit'acems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory FRESHERS NOW
Statement II: All luck is success
Statement III: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion II: Some hard work is victory
Conclusion III: No victory is luck

gy § P 38 T € Rraes omY i freed 1, 11 81R 111 Feprel T B | 3muep! AT R 6 il hue 9 € IR 98 I Iid dedt & et vielia 21 €1 suent fofg
HT ¢ Bl U T st # | HH-g/eH-8 Pffd U § SU gRT 981 RbTar ST 96 dl /954 8, I 313 8l

HYF I: 9 Ihadr foa §
PYT I1: Gt YT Goerar ©
FYF III: TS Hgd U

frspd 1: & Thad Jgd §
ey 11: oo Ngd Thaar 3
fored 111: Y faw v T R
Options:

1) Only conclusions I and II follow
Had fspy 1 iR 11 T R

2) Only conclusions II and III follow
Fad ey 11 3R 111 T8t ¥

3) Only conclusions I and III follow
Sad sy 1 oK 111 981 8

4) All conclusions I, II and III follow

T P 1, 11 SR I e |

Correct Answer: Only conclusions I and II follow

Paa ey 1 3R 11 98 ?

Candidate Answer: Only conclusions I and III follow

Fae fispy 1 3R 111 7t §
QID: 242 -
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

freAferRae ST arepfer 7 & Bl &1 e Ry e oy
3T IT 5 ot & J TAAT T&| ST AblT?

O
X
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Options:
1)

& & & &

Correct Answer:

&0

Candidate Answer: [ NOT ANSWERED ]

QID: 243 -

Which of the following answer figure patterns
can be combined to make the question figure?

frferiRaa Som amepfer & & &iF & wferedi &t
SArEaR foT T W9 ATl BT SR ST el #2

-

FRESHERS NOW
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Options:
1)

2)

3.)

4)
Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 244 -
In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

FrfaRae R 3 o, diserd o wefifar w8,
et WeTel e 1 Wefiia el 8, g9 SEeifine
I I 3 ol @t nafi ST B1 s &1 B |
g I SRR Pt el v

¥ qov e &
J
PN
G
K™,
E FAJ_[B \:

D

Options:
1) EFGI

2) BDKH]J
3) IGAC

4) DEJI
Correct Answer: EFGI
Candidate Answer: EFGI
QID : 245 -
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

fFrforRaa & & B &1 3 fo= fyaferr, SaRT 3fR et
& dter Hejer gfar 27

-

FRESHERS NOW
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Options:

"
c
@
<

Correct Answer:

©

Candidate Answer:

QOO

QID : 246 -

Which answer figure will complete the pattern in the

question figure?

fFrferReae o & -t ITR amepfer war ey & wftea

T ORT HYN?

T

N/

L/

FRESHERS NOW
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Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:

QID: 247 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1 it SR SpfoRIT & I ey bl A F v

iy Fifee 81

N\

FRESHERS NOW
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Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 248 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T SHIAT 7 AT SR BFTST T ASHR I
BE R AT Gl o 1S 8 fobey IR 3Tepfer ST
e &

FRESHERS NOW
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Options:
1)

2)

3)

Correct Answer:

209
O 0O
N

Candidate Answer:

00%
o 0O
N

QID : 249 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

afe v ST Y MIN T U g1 910 ar & 7Y 9w

STRBTTAN 7 R I-T TP T4 STTpfy b1 &
mfcifers gt

@,

-
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Options:

1) % e vow
\)
2.
X

Correct Answer:

X

Candidate Answer:

X

2)

3)

4)
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QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives, The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-|l
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etec and 'O can be represented by 97, 78 etc. Similarly, you have to
identify the set for the word "SPAN".

U 91eE et U HEI-E WINT Sea T 8, SR {3 Tt F 3 fipelt v
e &1 ferredt R o wET-ETE arert o < o e st e #, SR i R
QST MR H 1 -1 & T 31 dfeh B Hear 0 % 4 3R eI 53 9
81 5 ITTET ¥ UF &R P UEel SHHT Uith 31 aT8 H T AT ST ST 3
Tl &1 TEERT & 70 '© 1 43, 41 271 g7 S99 HehaT § @R 'O° & 97,
78 3 gy Sl w wear &1 g6t ave O et uy ¥ 2 9w 'SPAN' & e
GHE B T 8

Matrix | HTEE- Matrix I HTEE-N

i) 5 2 3 4 5 5 T £ E)
Q M A M | E 5 M A Q u 5
1 A A ] | A 6 i 5 T u N
2 F I M | E 7 5 z X o v
3 | 1] A L K & X 5 F w P
4 "] [ A [ L b u b ] il hi

Options:

1) 66,87,33,56
2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89,32,55
Candidate Answer: 86,89,32,55

QID : 251 - Preliminary expenses are the examples of

URMYS T HT ISR g
Options:

1) Capital expenditure

qrﬂ Td &g

2) Capital gain

Ui Y

3) revenue expenditure

Rod g

4) deferred revenue expenditure
RIFTT o

Correct Answer: Capital expenditure
qrﬂ Td &g

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - Which economic activity cannot be included in the tertiary sector?

it &7 & o It onfdfes nfafafy wnfira =t &t o wade
Options:

1) Working in a call-centre

Bid Yex T B HT

2) Tuition occupation

R TG

3) Bee-keeping

AYHSE! ured

4) Banking

Sfeb

Correct Answer: Bee-keeping

YA ured
Candidate Answer: Banking

QID : 253 - Which of the following statement is true for the Public Sector Unit?

fefifEad 7 @ o9 o1 By grdue 5% 3PS & Y 981 82
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Options:
1) Most of assets is owned by a group of people

=1 aREuRE &1 i Al & T & U Bl §
2) Most of assets is owned by big companies

: A ; : " Ao e

3) qut of assets i; owned by government
WHR Wit # gt 8

4) Most of assets is owned by an individual
i ot T afed & O gt @
Correct Answer: Most of assets is owned by government

TR WIHE & g 3

Candidate Answer: Most of assets is owned by government

QID : 254 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 P SIUFT & SFIHR URA &1 SHReA fay 3 sie &t faram uford 82
Options:

1) 17.5%

2) 18.01%

3) 19.35%

4) 20.25%

Correct Answer: 17.5%

Candidate Answer: 17.5%

QID : 255 - Which of the following five year plan of India recognized human development as the core of development efforts?

fafafad ¥ ¥ g yRdta deasfa a3 @it fasrarers Tarl & 9R & %0 8 919 f[Aemg & o 4
Options:

1) Eighth five year plan

3Tadt deasig e

2) Ninth five year plan
f Geraifar e
3) Tenth five year plan
f et et
4) Eleventh five year plan

Correct Answer: Eighth five year plan

3adl

Candi(}lqte Answer: Eleventh five year plan

QID : 256 - Which of the following thinker is associated with "the concept of political sovereignty"?

T I B faaRe "IeHifae TYIT 3 Gherl” ¥ WEl 87
Options:

1) Maclver

2) Socrates

3) Rousseau

4) Plato
wiel
Correct Answer: Rousseau

Candidate Answer: [ NOT ANSWERED ]

QID : 257 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

Ham g1 U1, ‘U BT ARG U 33T AT §1AT § 3R §RT AN T G I Tl 82
Options:

1) Plato

wiel

2) Aristotle
SR
3) G. B. Shaw

CiRN
4) Rousseau

Correct Answer: Aristotle

SR
Candidate Answer: [ NOT ANSWERED ]

QID : 258 - Panchayat Samiti at the block level in India is a/an

YR B i TR R &+ G=mad 9iafd g, [
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Options:

1) Advisory Body

T FeEPR b

2) Coordinating Authority only

Had GHGY UTYHT FRESHERS NOW
3) Supervisory Authority only

Paa qhaelt MR

4) Administrative Authority

RIS CRRIDE R

Correct Answer: Administrative Authority

Candidate Answer: Advisory Body
T GARHR e

QID : 259 - According to Indian Constitution, who decides the salary of members of Parliament?

YRR HAUH & 3FIUR, GUE & Tl & I $1 0 S Hal 52
Options:
]:) Uniqn Council of Ministers

2) Parliament

qgq

3) Supreme Court

JdH ey

4) President of India

HRd &7 Igafd

Correct Answer: Parliament
RN

(;andidate Answer: Union Council of Ministers

QID : 260 - Which one of the following is not correctly matched?

fFrafofed & #1911 w8 gafera e 82
Options:

1) Eighth Schedule : Languages
SICEIEESCIERINY

2) Second Schedule : Form of Oath of office

TR ST : XUY URSY

3) Fourth Schedule : Allocation of seats in Rajya Sabha
Areft St : T Ty H R BT Sitden

4) Tenth Schedule : Defection related provisions

YAl SIYE! : Go-gad e HaUH

Correct Answer: Second Schedule : Form of Oath of office
TR YT : [UY Uy

Candidate Answer: [ NOT ANSWERED ]

QID : 261 - When did the Chinese traveler 'Sung Yun' come to India?

= I T g YR S 3T AT?
Options:

1) 510 AD

510 8.

2) 518 AD

518 .

3) 525 AD

525 %,

4) 528 AD

528 %.

Correct Answer: 518 AD
518 %.

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - Which among the following state 'Odantpuri' education center was situated?

ey fien o= Foffea f A fPa v He@fR@ar |
Options:

1) Bengal

EHIN]

2) Gujarat

3) Bihar
4) Tamil Nadu

Correct Answer: Bihar

Candidate Answer: [ NOT ANSWERED ]
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QID : 263 - Who was the founder of Bahmani Kingdom?

FEH T BT YRITYS BI UT?
Options:
1) Hasan Gangu
2) Firoz Shah
[ERERI
3) Mahmud Gawan
at
4) Asaf Khan
STEH G

Correct Answer: Hasan Gangu
GNERIUS
Candidate Answer: [ NOT ANSWERED ]

QID : 264 - During whose rule in India did the Khilafat movement begin?

YR & frgas I & Sfaid RIAThd SfaIa T 3IRY g3 UT?
Options:

1) Lord Mountbatten

IS Irdesed

2) Lord Dalhousie

IS

3) Lord Chelmsford
S IHIS

4) Lord Curzon
TS FHoi
Correct Answer: Lord Chelmsford

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?

1880 & EXI% & URT B o Afga Il &t w1 $9H 9 fore @2
Options:

1) Swami Dayananda Saraswati

Wt g

2) Swami Vivekananada

3) Ramabai Ranade

4) Pandita Ramabai
CIEGIRSIEIE)
Correct Answer: Pandita Ramabai

Candidate Answer: Pandita Ramabai

QID : 266 - Dasht-e Kavir Desert is located in which country?

IXA-U-HIR Ao fore 33 o fRid 72
Options:
1) Iran

2) Saudi Arab
Tl 3RS
3) Iraq

RSB

4) Sudan
qsH

Correct Answer: Iran

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - Which of the following layers is called "Barysphere"?

oo & 3 frg wRd &) "SRIWIR" FHT 1 72
Options:

1) Earth's most internal layer

T2 B Y SRS IRd

2) Earth's intermediate layer

gt Y Aemadf wd

3) Earth's topmost layer

T B I ST IR

4) Lowest part of the atmosphere where climate changes occur
TGHST BT T Fierell WIT Sf5 HIeH URadd 81 8.
Correct Answer: Earth's most internal layer

T2 B Y SRS IRd
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Candidate Answer Lowest part of the atmosphere where climate changes occur
AgHSd &1 Fad = YA gl 9y

QID : 268 - The Blue Nile river originates from which of the following lakes?

& A 7 Fafafad & @ feg e ¥ PAead 22
Options:

1) Lake Victoria

faaeifean

2) Lake Tana
S
3) Lake Edward

4) Lake Albert
e e

Correct Answer: Lake Tana
GIBIEIS
Candidate Answer: Lake Victoria

FRESHERS NOW

QID : 269 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

YR a7 [de0r &1 RUIE & SFUR YRd & FHufafad & F forw oa & dmiferes &= &1 watfie ufowrd o 89 82
Options:
1) Manipur

2) Meghalaya
e
3) Mizoram

4) Nagaland
Correct Answer: Mizoram

Candidate Answer: Meghalaya

QID : 270 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?
fafafed TR & s vd yriked wef e T 7 g 82

Options:

1) Haridwar

2) Rishikesh

EILC

3) Rudraprayag

PN

4) Devprayag

SavarT

Correct Answer: Devprayag

Candidate Answer: Rishikesh

QID : 271 - 'Nirvana Fund' was set up by NSDC for financial help to

TegERh gR fafor Sy @ R ! facia TgTIdT UM &= gg &t TS ot
Options:

1) Entrepreneurs from the bottom rungs of society

GEISKEASER] Jafe

2) Displaced Kashmiri Pandits

et HeeRt dfsal

3) Old age people havmg no means of livelihood
[ g ShfaehT 1 BIE Tre T ®
4) Ventures of selected candidates trained under PMKVY but did not get any job.
¥ Ifid Tafd SR Ui SWieaR R #1g JoR et foren
Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.

¥ offa Tafd SR U SR o #18 JAoRTR =T fire
Candidate Answer: [ NOT ANSWERED ]

QID : 272 - Nakul Swasthya Patra' is a scheme by the Government for which among the following purposes?

fofafea 7 ¥ fry 337 &1 g & iU YRT WSR gRI G WA TR TIeHT F 31 T8 82
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Options:
1) Wellness of animals
UR[3T & WA BT C@HA 7

2) Wellness of animal owners

Y] ATI! & WA B G@HTA 5g FRESHERS NOW
3) Taking care of lactating mother in the rural areas

oredior & o =t @ g fUam arelt ATarel ¥ WRea B S@HId 7

4) Taking care of newborn babies in the rural areas
[ & Araeira RIgell & W i T@qTd 79

Correct Answer: Wellness of animals
URI3T & WA BT C@HA 7
Candidate Answer: [ NOT ANSWERED ]

QID : 273 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?

YRT B HH-H TG B Feflie TF H & AT TR I0T Y RITAT 7 el G BT 7T A6-37RF TG g4 & SR g1d 8t § afd Ei?
Options:
1) Talchar mine
GNERRCHE]
2) Koraput mine
daH
3) Noamundi mine

At wem
4) Ratnagiri mine
Qar
Correct Answer: Noamundi mine
A wem
Candidate Answer: [ NOT ANSWERED ]

QID : 274 - Where will the Summer Olympics be held in 2028?

HeaeTen 3fcfie T 2028 | gl maford faar sem?
Options:

1) Sydney

IRERIl

2) Paris

LIRS

3) Los Angeles
St

4) Copenhagen
PRI

Correct Answer: Los Angeles
SIS}

Candidate Answer: Sydney

QID : 275 - Which country has won the 2017 Davis Cup Tennis Tournament?

359 By e geidie 2017 fbg 3w 3 Shar 82
Options:
1) Switzgrland

2) Serbia
gfefar

3) France
ans|
4) Belarus

Correct Answer: France
i

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - “You are Unique” is written by

"GRG G ot T R
Options:

1) Dr. A. P. J. Abdul Kalam

31T W 9. 3fegd HAH

2) Khushwant Singh

grdd Rig

3) Taslima Nasrin

4) Arvind Adiga
3Rfag efeT

Correct Answer: Dr. A. P. J. Abdul Kalam
31T W 9. 3fegd HAH
Candidate Answer: [ NOT ANSWERED ]
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QID : 277 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor
T8 2017 F forw FRT YR Wipfae Taiy uikeg (W1.97.3.49.) fafy yRafag T S dheR o e mar g1

Options:

1) Hiroshi Marui FRESHERS NOW
2) Shimamaru Marui

3) Nagasaki Marui

AT} HEs

4) Toyota Marui

Correct Answer: Hiroshi Marui
R T

Candidate Answer: Toyota Marui

QID : 278 - Which of the following city has became first Indian city to get UNESCO'’s world heritage city tag?

fofaiea 7 ¥ S 91 6% ZAws! 31 3y faRTad Wex &1 27 U 67 aTel YR 6T JH e & T 82
Options:
1) Jaipur

KRR
2) Ahmedabad

SEEMEI

3) Gandhi Nagar

et TR

4) Allahabad

ENIEEI

Correct Answer: Ahmedabad
SigHald

Candidate Answer: Ahmedabad
3fgHaldIq

QID : 279 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

S 2017 #, Fgfer@d & | o 22t 3 SiftderR & & # Tgdiv % Ry e WieeTd W g b §2
Options:

1) India and Israel

HRd dYT IR

2) India and Portugal

YRS TUT Gt

3) India and Netherland

YR qT Fexeis

4) India and Iran

HRA TUT R

Correct Answer: India and Portugal
YR ddt

Candidate Answer: India and Netherland
HRA aYT Hieels

QID : 280 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?

fuafefad # @ by 32 &) YR 7 ¥dd 85 F R & fRrw 318 T sk Sier @t hide A & Terdl o3 $ 1T e g fbar 22
Options:

1) Blangladesh

EILSICR

2) Nepal

B

3) China

4) Sri Lanka

BISER

Correct Answer: Sri Lanka

Candidate Answer: Bangladesh

QID : 281 - Dot Matrix is a type of
gl ey &1 TF UPR 3|
Options:

1) Tape

<

2) Disk

5552

3) Printer

flieR

4) Bus
Rl
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Correct Answer: Printer

Candidate Answer: Printer

QID : 282 - The secondary storage devices can only store data but they cannot perform

e TUeT SuHRY Had STeT TRd FR Ibd & W I8 Tt BR TP §
Options:
1) Arithmetic operations

2) Logic operations
3) Fetch operations

4) All options are correct.
Tt faepe Ot €1

Correct Answer: All options are correct.

uff ey TS B

Candidate Answer: All options are correct.

it faepen I B

QID : 283 - In the modern periodic table metals, metalloids and non metals are found in which block?

Y 3fad IROM F Tg, IUUTG, TUT STq 59 il § U W &2
Options:

1) s-Block

s-silH

2) p-block

p-SAlH

3) d-block

d-A1H

4) f-block

f-slich

Correct Answer: p-block
p-dldh

Candidate Answer: d-block
d-sd(®

QID : 284 - Cinnabar is ore of which of the following?

fofafea 7 9 RAeR fFae s/aw 82
Options:
1) Magnesium

2) Aluminium

3) Mercury
ORI
4) Iron

Correct Answer: Mercury
URT

Candidate Answer: Iron

QID : 285 - In which of the following mirror size of image formed is always equal to the size of object?

frafefad 3 & H & gdur & vfafare o1 MHR A= i & MBR F TAM BT 32
Options:

1) Convex mirror

Iad U

2) Concave mirror

3{ddel

3) Plane mirror

Jdad gyur

4) Both convex and concave mirror
I T FUT aAe U Gt
Correct Answer: Plane mirror
Jad guur

Candidate Answer: Plane mirror
Jodd guur

QID : 286 - Mass of a hydrogen atom is how many time the mass of an electron?

T BIESIS IR &1 GHHH U SAGI & GHMA T a1 7471 gidT 82

FRESHERS NOW
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Options:
1) 1000

2) 8000
3) 1837

4) 5000
Correct Answer: 1837
Candidate Answer: 1837

QID : 287 - Which of the following are Fabrics that may contain polyester?

1. Polycot
II. Polywool
III. Terrycot

Fafifad & @ o9 4 Hus! § Uielivex g obdl &2

L. Uiferex

I1. uiferqa

111 ple
Options:

1) Only I and II
Had 1 auT I

2) Only I and III
Had I T 11T

3) Only II and III
Had II T 111
4) All I, I and III
I, I1 aT 111 9aft

Correct Answer: All I, IT and III
I, I1 T 111 9aft

Candidate Answer: [ NOT ANSWERED ]

QID : 288 - Which of the following term does NOT represent electrical power in circuit?

fofofaa o ¥ w19 91 ug fagaa ufkay & fagaa wifda & fFAefog A8t srar
Options:

1) IR

2) IR?

3) VI

4) V2R

Correct Answer: IR?

Candidate Answer: IR?

FRESHERS NOW

QID : 289 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

ufym BT SR TATId B13 UATaRId HUT B Yadia & GRT SR B iR &M 81 S 31 Jera &7 1 forwn /a1 52

Options:

1) toward south
TR0 B SR

2) toward east
qd a1 o

3) downward

3!

4) upward

Correct Answer: upward

Candidate Answer: [ NOT ANSWERED ]

QID : 290 - Which of the following is NOT positively charged?

frofafad & 9 o yemafa e 82
Options:

1) Alpha particle

3{cthT HUT

2) Proton

Ured

3) Helium nucleus
BlRCT
4) Electron

Correct Answer: Electron

X


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Candidate Answer: Electron

X

QID : 291 - Which is a water soluble Vitamin?

B 1 et wia # gamehd 82
Options:
1) Vitamin A
fqeTfi A
2) Vitamin C
et
3) Vitamin D
[EEIEEED)
4) Vitamin K
K
Correct Answer: Vitamin C
fqarfi= ¢
Candidate Answer: Vitamin C
C

QID: 292 -
Match the items given in column (A) with those in
column (B).

Column - A Column-B
I. Frog 1. Skin
. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

TH (F) # B T et B w=H (@) & 9y
Brema fifam)

HA-F HAH-T
. HASH 1. o=
1. gfear 2 &1
I, dgam 3. %% FAT =T
Options:

1) I3, II-2, I1I-1
2) I-1, I1-2, I1I-3
3) I3, II-1, I1I-2

4)1-2, 1I-1, 111-3
Correct Answer: 1-3, II-2, III-1
Candidate Answer: I-3, II-2, III-1

QID : 293 - How many number of chambers are there in human heart?

T4 ged | Befl B J= fbet Bt 82
Options:
1) Two

2) Three
GIG|

3) Four

IR

4) Five

LIES

Correct Answer: Four
IR

Candidate Answer: Four
IR

QID : 294 - Which of the following is NOT present in a matured stomata?

T gu% ¥y § Fafifad § 3 o 91 Suryd 98 g &2

FRESHERS NOW
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Options:
1) Plasmodesma

2) Chloroplast
HIGREED

3) Cell wall
CAIRCAREIS]

4) Vacuole
Correct Answer: Plasmodesma

Candidate Answer: Cell wall

QID : 295 - What is/are the cause(s) of arise hypermetropia?

e =D W BY/S T BRI B/F?
Options:

1) Excessive curvature of the eye lens.
ST T Bt achal o SHfAF B

2) Elongation of the eye ball.

&1 I g
3) Focal length of the eye lens is too long.
ST A BT BIpy g3 BT YD G
4) No option is correct.
®I5 ey el e 8|
Correct Answer: Focal length of the eye lens is too long.
ST A BT Iy g BT YD g
Candidate Answer: Focal length of the eye lens is too long.

AT AT P BIpd gl BT e BT

QID : 296 - Antibiotics are useful for which type of infections?

59 UPR & Tepau % fo Tamifes THIES Bt 82
Options:

1) Only bacteria

Fada

2) Only virus
PHad

3) Both bacteria and virus

Sftaroy T T S

4) Neither bacteria nor virus
7 Sitary] 7 € famg

Correct Answer: Only bacteria

Candidate Answer: Only virus

Had faum

QID : 297 - Which one of the following is NOT responsible for water shortage?

Profifd § @ S @ SRS o 1 HH F Ry Ioerd 78 82
Options:

1) Rapid growth of industries
&%?ﬂTﬂav—{m b [ -4

2) Increasing population
gl S
3) Forestation

4) Mismanagement of water resources
S S BT FUE
Correct Answer: Forestation

Candidate Answer: Forestation

QID : 298 - Which gas is major contributor to greenhouse effect?
I T 19 gRaE TuTa & Ted 3ifie dhre St 82

Options:
1) Carbon qlioxide
Fra SRS

2) Chloroflurocarbon

3) Sulphur dioxide

TR TRINFRS

4) Nitrogen dioxide

AgSIoH STgHiegS

Correct Answer: Carbon dioxide

EACRRSIEIERIES]

FRESHERS NOW
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Candidate Answer: Chloroflurocarbon

QID : 299 - Which of the following is NOT a major problem in development of resources?

frafafaa & @ o o ganeET & e & e g TE 82
Options:

1) Depletion of resources for satisfying the greed of few individuals.
$© Gl B1/db AAAIR] TATEH! BT g |

2) Accumulation of resources in few hands.

$S Gl & g1d B IH1eHT &1 gad |

3) An equitable distribution of resources.

T BT TS | T SearT|

4) Indiscriminate exploitation of resources.

TTeET T Sferefy Jyoy|

Correct Answer: An equitable distribution of resources.
T BT TS | AT Sear|

Candidate Answer: An equitable distribution of resources.
T BT GHTS H I SearT|

QID : 300 - Which of the following is NOT man made ecosystem?

fofafea & 9 w19 w1 g Pffa oitfRufast 5 78 82
Options:

1) Orchards

3

2) Home aquarium

3) Botanical gardens
-3
4) Grassland

N &1 A

Correct Answer: Grassland
1Y &I AgH

Candidate Answer: Grassland
o1 BT AgH

QID : 301 - Which of the following is the dimensional formula of conductance?

frofafed & @ o1 yaee@ &1 Smand 9 82
Options:
1)

MLT=I
2)
MLET=?

3)

Mg—1 L—z-rs _."2
4)

MLT=I
Correct Answer:
JM_1 L—z-rs _."2

Candidate Answer: [ NOT ANSWERED ]

QID : 302 - Which one of the following statement is TRUE about the resistance of a conductor?

A & UoRIY & IR § Fafafad & § S 91 $uF a6 82

Options:

1) The resistance of a conductor is inversely proportional to the length of the conductor.

D BT URIY AP B TaTs b GehH SMIUTID Bl 31

2) The resistance of a conductor is directly proportional to the area of the conductor.

HTcieh BT UeRIY dIeD b & U Bia B

3) The resistance of a conductor is inversely proportional to the pressure applied on the conductor.
TTAH BT TRRIY IS W R Ga1d &b HhT HIATIH Siefl 3

4) The resistance of a conductor is inversely proportional to the area of the conductor.
TTAS BT URRIY AT & & P hH MIUTAD Bl g

Correct Answer: The resistance of a conductor is inversely proportional to the area of the conductor.

TS BT TR IS P & P HSHH SIS Il g |

Candidate Answer: The resistance of a conductor is inversely proportional to the area of the conductor.

AT Bl URRIY ATeib & & P b H MUIAD Eial 31

QID : 303 - In parallel combination of resistances, the voltage is

YRR ¥ THHR JdieH §, dieew gl

FRESHERS NOW
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Options:
1) lower across largest resistance
¥ 8 UfRiYy § &1
2) higher across largest resistance
o T 3w FRESHERS NOW

3) same across each resistance
TS UfeRIY TR T &
4) higher across smaller resistance

gfeRTy o
Correct Answer: same across each resistance
A% UfeRIY TR T &
Candidate Answer: same across each resistance
T® URRIY TR TH gt

QID : 304 - Electrical conductivity of a conductor is measured in

AT B fagad draebdr A Tt STt 21
Options:
1) $iemens

2) Ohms

3) Siemens/meter

/e

4) Ohms/metre

/e

Correct Answer: Siemens/meter
/e

Caqdidate Answer: Siemens

QID : 305 - What will be the equivalent capacitance of a parallel combination of four capacitors having equal value of capacitance ‘C"?

YIRAT 'C' P T Ted aTe! IR JHTRA & JHIGR GarST 1 THEed TRl 31 gii?
Options:

1) C/4

2) 4C

3)C/2

4) 2C

Correct Answer: 4C

Candidate Answer: 4C

QID : 306 - What will be the potential difference (in V) between the ends of a conductor when the current flowing through the conductor is 3 A and the value of
conductance is 0.3 mho?

e & Sfdl & i NRIT T (diee T) 1 g 919 aTaes & A1y ¥ fagad URT UaTg 3 TR 3R a1addl &1 e 0.3 Hel 82
Options:

1) 10

2) 100

3) 20

4)0.1

Correct Answer: 10

Candidate Answer: 10

QID : 307 - Determine the value of charge stored (in mC) in a capacitor, when the value of capacitance is 0.01 mF and the potential difference between the ends of
the capacitor is 20 V.

Tt o T smaw &1 A (Frc-grers ) Fuiia &%, /@ Utk &1 91 0.01 frel-Rs ok Jutfia & ol & o9 uifma fwiw 20 diee B
Options:

1)0.2

2)2

3)20

4) 200

Correct Answer: 0.2

Candidate Answer: 2

QID : 308 - Determine the value of current (in A) drawn from a 8 V battery, when a wire of 24 ohms resistance is stretched doubled its original length and then cut
into two equal parts and these equal are connected in parallel with the battery?

8 diee I8 I o fagad URT BT A (THER o) 1 81, S 24 37 TfR1Y &1 aR ! Ja doTs &1 Wi B ST fbar SaT 8, o S < sRTeR |t | e fean
ST ® 3R A SRI&R HIAT Y 9 b AR § SST ST 82

Options:
1)0.33
2) 0.65
3)0.24

4) 0.47
Correct Answer: 0.33
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Candidate Answer: 0.33

QID : 309 - Determine the heat (in Joules) dissipated through a resistor of 15 ohms resistance, when 0.5 A of current is flowing through the resistoi ‘conds.

15 31 TRy & 1 ¥ S $1 0oy (S #) Fufa %, 99 ufokiy & gR1 0.5 TR &1 fagad oR 8 s & fow 98 |1 3 FRESHERS NOW
Options:
1) 40

2) 30
3) 20

4) 60
Correct Answer: 30
Candidate Answer: 30

QID : 310 - What will be the color-coding of a resistor when the resistance of the resistor is 15 Ohms?

UfaR1ee BT T-HIET &1 G o UfaRiereh T ufaRly 15 3iH 82

Options:

1) Green-Brown-Black-Black

- RI-hTAT-h Tl

2) Brown-Green-Brown-Brown

3) Brown-Green-Black-Brown

4) Brown-Green-Black-Black
HRI-BRI-PIeAT-hTedl

Correct Answer: Brown-Green-Black-Black
WRT-BRI-PTdl-hIel

Candidate Answer: Brown-Green-Black-Black
WRT-GRI-PTel-hIell

QID : 311 - Which one of the following statement is TRUE about the Kirchhoff's voltage law?

i & 3 S 91 By eei® & diees o0 & IR § T 22
Options:

1) The algebraic sum of all the voltages around any closed path is infinite.
foreht off o vy F et At &1 S T o BT B

2) The algebraic sum of all the voltages around any closed path is negative.
foreft oft 5 vy & Wt S 1 e A HomHS BT B

3) The algebraic sum of all the voltages around any closed path is one.
et ot 5 gy & et At &1 Femfca A U g B

4) The algebraic sum of all the voltages around any closed path is zero.

fopeht oft ¢ gy & @t dieest o1 AorTiordT 9 g BT 71

Correct Answer: The algebraic sum of all the voltages around any closed path is zero.

foraft ot 55 vy F Tt dieew &1 oK AT 3R gl B

Candidate Answer: The algebraic sum of all the voltages around any closed path is zero.

foelt o 5T gy & Wit At o1 I AT < BT B

QID : 312 - Which one of the following is the CORRECT statement for superposition theorem?

49 & F BIF 91 seRIuu TRy (YURUIGNRH 2RY) & o 98 aade 82

Options:

1) The algebraic sum of all the voltages around any closed path is zero.

fopet ot ¢ vy F Tt dieet 1 SRR A g B B

2) The overall current in any part of a linear circuit is equal to the algebraic sum of the currents produced by each source separately.
e ooy & et of R o vde Wid g1 Jaed SrerT-Sra fagad armaft & Siemforda ai & SRR g

3) The sum of currents entering a node is equal to the sum of currents leaving the node.

e & a1 I areht fagad yRTel &1 AN A1S Bie arelt fagad yR1sf & TR 7

4) The algebraic sum of all the voltages around any closed path is equal to one.

ot 1ft 5 vy & gt e b AW G U & SRISR Bl 3

Correct Answer: The overall current in any part of a linear circuit is equal to the algebraic sum of the currents produced by each source separately.

Yaw ooy & et ot Rl & vde Tid gRT Iafed SrerT-sra fagad urmaft & diemorda d & sRTeR 1

Candidate Answer: The overall current in any part of a linear circuit is equal to the algebraic sum of the currents produced by each source separately.

e ufky & el ot iR & vdes i GRT Iafed SemT-ora fagad urmall & stenTiorda di % aRIeR 1

QID : 313 - Which one of the expression satisfies the condition of maximum power transfer theorem?

9 o I B 91 TR Sifiman T saiaRr T (ARTHH TR TR 2iRy) B U B TP FRa1 82
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Options:

1)
) *
ZL X Zs
2) FRESHERS NOW
Z -R,
3)
z -2Z
4)
X L= RL
Correct Answer:
) *
ZL X Zs
Candidate Answer:
Z -R,

QID : 314 - Determine the value of current (in A) that flows through a resistor of 9 ohms, when the potential difference between the ends of the resistor is 36 V.

9 319 & UfRIY & ATy § Yared fagad URT &1 7 (TR B) fuiia &%, oS TRy & BRI & S TR fSHiE 36 ae B

Options:

1)8

2)7

3)4

4)3

Correct Answer: 4
Candidate Answer: 4

QID : 315 - What will be the value of load impedance (in ohms) for transmitting maximum power from the source to load when the source impedance is 8 + j4
ohms?

Hrd UfIaTeT 8 + j 4 3H & 1Y HId § ABIH Mo GIAIRY B b o TS Wlaanen &1 7 (3 H) o1 gmm?
Options:
1)8-ij4

2)8+j4
3)4+j8

4)4-i8
Correct Answer: 8 — j4
Candidate Answer: 8 - j4

QID: 316 -
Determine the value of current (in A) drawn from the
voltage source for the electrical circuit given below.

A U fachd uRuy & fov diets @d @ o ot
foezd omr &1 #71 (TFrET /) AiRa wX

200
200 200
MW W
A
50 V 200

Options:
1) 4
2)3.5
3)25

4) 1.6

Correct Answer: 2.5
Candidate Answer: 2.5

QID : 317 - Determine the load resistance (in ohms) for a circuit when the maximum power transferred from source of 80 V to the load is 80 W.

Rkuy & fRre s uferiy &1 91 (38 7) Ruffed &3, @ 80 diee &1 id @i b 80 dle T 3ifiwdy UfFd gXdidRd BT 8l
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Options:
1) 40

2) 20
3) 10

4)5
Correct Answer: 20
Candidate Answer: 40

QID: 318 -
Determine the Norton's resistance (in ohms)
between terminals A and B for the circuit given below.

A9 v o oiwy & fav effee AR B& d
Afea gfay (3 ) Auifa &0

30

30 30 30

Ay A MWh——= A

+
0V — 30
B

Options:
1)5.8
2)4.8
3)3.8
4)1.8

Correct Answer: 4.8
Candidate Answer: [ NOT ANSWERED ]

QID: 319 -
Determine the Thevenin's equivalent resistance
{in ohms) across the terminal a and b for the

electrical circuit given below.

7 R aw faema 9wy & v effiae a3t b
& 9 gAdea dafae ofader e #) frifta s1

[ 3a \ 10
W
\ 30 [/
- oa -

S0V — an ob — 40V

Options:
1)1

2)0.5
3)0.3

4)0.2
Correct Answer: 0.5
Candidate Answer: 0.5

FRESHERS NOW
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QID : 320 -
Determine the value of current (in A) through 30
ohms resistor of the circuit given below.

A T 7w gy & 30 H1F 9fody & AEdHE 9 FRESHERS NOW
faggd arT &1 A (TR #) Tuifa &3

300
A

40V — 2200 =L 20V

Options:
1)4

2)3
3)2

4)1
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 321 - Which of the following is the dimensional formula for mutual inductance?

frafafaa & @ o1 1 W-ORulie &1 Smanh g 82
Options:
1)

Msz A—z
2)
ﬁ/ﬁ'_‘? Tz Az
3)
.-’W_Z T—z A -2
4)
M—z T—z Az
Correct Answer:
.Mi'.z T—z A -2
Candidate Answer:

M2T2A
QID : 322 - Which of the following is the CORRECT expression for hysteresis loss occurring in a material?

Frofared & 3 oF & vard # gH arel ffeRR a1 & R gt wiie &2
Options:
1)

7% B2 x f* xV
2)
502 e e L

3)

B B::} wfxl
4)

n x Bi xF18xV
Correct Answer:
B Blf wfxl

Candidate Answer:

1B P el sl

QID : 323 - Which of the following expression satisfies the Faraday’s law of electromagnetic induction?

fFrafifed wiiexo # 3 oH he & fogad geer IR0 & Fad &1 9qs F=d 82
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Options:

1)
_ Ndg
o dt FRESHERS NOW
2) d
e=N/ a8
dt
3)
e=-N j dgdt
4)
2
at
Correct Answer:
__Nd¢
dt
Candidate Answer:
_ Ndg
ot

QID : 324 - Which property of a material opposes the passage of magnetic flux through it?

Tt Teref 1 I AT 01 YePIg UaTe b Akl Bl 82
Options:

1) Permeance

UREA

2) Capacitance

FerRar

3) Inductance

4) Reluctance
Correct Answer: Reluctance

Candidate Answer: Reluctance

QID : 325 - Determine the intensity of magnetization (in A/m) of a magnet when the pole strength of the magnet is 30 A-m and the pole of the magnet is 2 sq. m.

b B GBI &A1 P dlerell bl FefRor (ThieR/dfex ) I, §id guo B Uiel BT diebd 30 THRR-HieR Bl § 3R daeh &1 Uit 2 aif Hiex &1 1
Deo

2) 30

3) 25

4) 15
Correct Answer: 15
Candidate Answer: 15

QID : 326 - What will be the produced mmf (in Amp-turns) in a coil, if the coil has 160 turns and carries a current of 0.15 A?

Feeht 7 160 T & SIR 0.15 THRR &1 fagad ¥R 98 W) &, @ Sl H TH.TH.T%. (THRR-c ) 1 gme
Options:
1)32

2) 24
3) 16

4)8
Correct Answer: 24
Candidate Answer: 24

QID : 327 - Determine the reluctance (in Amp-turns/Wb) of a coil, when the flux through the coil is 25 Wb and the value of produced mmf is 50 Amp-turns.

Pl F Ufapn (THR-c/asR) ¥ fuiid &3, 5d $sot # 25 IR $ Wi 3R IJAed TH.TH.T%. &1 A 50 THRR-<Y B
Opti H

1)szOI'IS

2) 4

3)6

4)8

Correct Answer: 2
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Candidate Answer: 2

QID : 328 - Determine the magnetic field intensity (in Amp-turns/m) of 5 metre long coil when the coil has 100 turns and carries a current of 0.6 A.

5 Hier T Feclt & graw g &5 @t diadr &1 A (TEmR-e=/dieR #) fufd o, 99 Fedt # 100 2= § SRR 0.6 THRR &t fagad uRT yaried g1 SEFRERs Now
Options:
1) 15

2) 12
3) 10

4)8
Correct Answer: 12
Candidate Answer: 12

QID : 329 - Determine the self-inductance (in mH) of a 3 m long air-cored solenoid, when the coil has 300 turns and the diameter of the coil 12 cm.

T 3 Hiex 9d a1g BR GieHzs & W-IRie B7 FuiRor (Ae-g=8 #) &%, 99 St & 300 TS iR Hsell &1 oy 12 ¥Hex 71
Options:

1) 0.41

2)0.35

3)0.32

4)0.24

Correct Answer: 0.41

Candidate Answer: [ NOT ANSWERED ]

QID : 330 - Determine the current (in A) through a 60 cm long solenoid when the solenoid has 400 turns and the value of magnetic field at the centre of the
solenoid is 6 mT.

60 . . T WieHTzs & A1 I fagad 4rT &1 A (TR ) Fufia 3% o Qiaizs # 400 AiS SR Tieriss & g # oo d &5 o1 A 6 fAe-2wr 81

Options:
1) 4.4

2)5.6
3)7.2

4)8.4
Correct Answer: 7.2
Candidate Answer: [ NOT ANSWERED ]

QID: 331-
Determine the root means square value (in V) of the

voltage waveform given in the figure below.
AP & R v dees @@ & @ Ay qw
(FR.TATHE) & A (dee #) Ffa 1

~

= 24 V1| FR TSR EB-.L’/

Options:
1) 56.56

2) 46.52
3) 32.25

4) 28.29
Correct Answer: 28.29
Candidate Answer: 28.29

QID : 332 - Determine the time-period (in ms) of a sinusoidal wave when the frequency of the wave is 60 Hz.

TP TG o Bt Ty Aty (firef-debs ) Fafka a1 919 o< @t 3mgfy 60 8¢ &1
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Options:
1) 16.67

2) 18.26

FRESHERS NOW
3) 20.24

4) 26
Correct Answer: 16.67
Candidate Answer: 16.67

QID : 333 - Which of the following is the unit of frequency of an AC signal?

Fofiad & 3 o5 @ garad () & @) rai Bl 3eTE 82
Options:

1) Hertz/Second

TIPS

2) Revolution
3) Hertz

4)\ Revolution/second

Correct Answer: Hertz

Candidate Answer: Hertz

QID : 334 - Which one of the following is the CORRECT relation between the peak value and RMS value of current for a sine wave?
9 & I B 91 T 15 TR & A fagaq o1 & RRR 7w o arf A g (SIR.TH.T9.) I & St I8 ey 87

Options:

1)
I__=0.08l,
2)

| =087l
3)

I =1.4141,
4)

/.. =0.707],
Correct Answer:
I_.=0.7071,
Candidate Answer:
I_.=0.7071,

QID : 335 - Determine the average value of alternating voltage (in V) when the peak value of the voltage is 120 V.

Trees BT AR e 120 diee B T TG dleest &1 3iGd A (diee 7) i &3
Options:
1) 76.44

2) 86.34
3) 110.34

4) 188.38
Correct Answer: 76.44
Candidate Answer: 76.44

QID : 336 - What will be the capacitance (in mF) of a circuit when the circuit is supplied with a 50 Hz frequency and the capacitive reactance of the circuit is 40
ohms?

% URTY BT 1iRar &1 A (Fe-ThRe #) T g o aRkay 3T SMgfif 50 5 B i I gR1 BT ot § SR uikay B ifkar ufafsar 40 o 82
Options:

1) Ol.?lns

2)0.8

3)1.4

4)2.6

Correct Answer: 0.8

Candidate Answer: 0.8

QID : 337 - Determine the total power (in kW) consumed by a 3-phase delta connected system supplied by a line voltage of 240 V when the value of phase current
is 20 A and the current lags the voltage by 60 degree.

240 AT & TH A1 dlecol gRT MYfeld 3-Bof SeeT FaeS Ul §RT JUd Hot Wfed (forett are 7) Fufa o, S1a e fagad oRT &1 OH 20 THERR 81 § 8k
fagad RT dees T 60 f7ft F B wwar B
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Options:

1)9.4

2)8.6

3)8.2

4)7.2 FRESHERS NOW
Correct Answer: 7.2

Candidate Answer: 7.2

QID : 338 - Determine the capacitive susceptence (in Siemens) of a circuit if the capacitance of the circuit is 0.08 mF and supplied with a 50 Hz frequency.

Uy Bt Fefear 0.08 - 7 st ue 50 5 3Maiy & a1y ongfef ot i 8, O 39 ulkuy &t Tetfar gap=g (iH #) fFuia w3
Options:
1) 0.025

2) 0.034
3) 0.046

4) 0.064
Correct Answer: 0.025
Candidate Answer: 0.064

QID : 339 - What will be the transient time (in seconds) of a series RC circuit when the value of the capacitance is 600 microfarad and the value of the resistance is
20 kilo-Ohms?

siaa SR uRuy 7 &ifdres THg (Tifite ergh) (Ihad o) T 8T od JUTRdT HT A 600 HTEH-13s 8T § 3R UfaRiY &1 Hed 20 fHal-ofi| gidr 82
Options:

1) 10

2) 12

3) 14

4) 16

Correct Answer: 12

Candidate Answer: 12

QID : 340 - What will be the resonant frequency (in kHz) of a tank circuit when the capacitance and inductance of the circuit is 0.04 mF and 0.04 mH respectively?

Uy Bt iar iR IR HER: 0.04 FAc-e 3R 0.04 MR 8, 99 39 &% ulwy ot oA emafy (fre-g<at &) @ gnfie
Options:

1)8

2)6

3)4

4)1

Correct Answer: 4

Candidate Answer: 4

QID : 341 - Multimetres cannot measure the value of

ety % A Pl AIG ol THATl
Options:
1) voltage

2) current
fagad R

3) resistance
gfeRIY

4) phase angle
e BIT

Correct Answer: phase angle

B B0

Candidate Answer: phase angle

g

QID : 342 - Which of the following statement is TRUE?

9 & 9 S O FuF Td 22

Options:

1) A galvanometer can be converted into ammeter by connecting a low value of resistance in series with the galvanometer.
F Y o H HH e & UeRIY BT ISP U NedHIex o1 Tadiex H ufkafdd foar S gear 81

2) A galvanometer can be converted into ammeter by connecting a low value of resistance in parallel with the galvanometer.
F Y TOFIR B HF G & IRy &) Shgd T Neaniier &t wdier & uRafdd fasar s e 81

3) A galvanometer can be converted into ammeter by connecting a high value of resistance in series with the galvanometer.
F Y oI W I Ged b URIY Bl SISHR U TeaHIex Bl THtex # uRafdd far s e 71

4) A galvanometer can be converted into ammeter by connecting a high value of resistance in parallel with the galvanometer.

AeaHier & 1Y THMIR B 3 G & UfeRIY &Y e U wafler & uRafdd fasar o e 21

Correct Answer: A galvanometer can be converted into ammeter by connecting a low value of resistance in parallel with the galvanometer.

AegrieR & Y MR H BH Jod & UfeRIY BT SiSHR T Tea-HieR &I Taflex & ufafia farar S o |

Candidate Answer: A galvanometer can be converted into ammeter by connecting a high value of resistance in parallel with the galvanometer.
F Y AR & I Ied & Ufak1Y 1 Sga T Tea-mier o wrfiex & ufkafdd foran o v g1
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QID : 343 - Which of the statement is TRUE about megger?

AR & IR A $H I HUT T 32
Options:
1) Megger is used for the measurement of voltage. FRESHERS NOW
AR 1 ITINT Fees A F fere fovan s g1
2) Megger is used for the measurement of current.
1 SUANT fagad YRT B AT & R fvan & 21
3) Megger is used for the measurement of insulation resistance.
TR BT SUGNT SGAH UfeRIY T AT & forg fpar o 31
4) Megger is used for the measurement of breakdown voltage of insulation.

TR BT ITANT SR & N3 dlees BT IO & I {3 e 31

Correct Answer: Megger is used for the measurement of insulation resistance.

TR BT SUGNT SGAH UieRIY HT AT & forg fpar o 31

Candidate Answer: Megger is used for the measurement of insulation resistance.

TR BT IUGNT SO TiaiY BT A0 & R oo e 21

QID : 344 - Which of the following bridge is most suitable for the measurement of inductance of a coil?

Fedl & Red & 910 & fou g 3 § oF a1 5 Ia9 I &2
Options:

1) Owen’s Bridge

3o forat

2) Schering Bridge
T for e

3) Wien's Bridge
o

4) Wheatstone Bridge

Correct Answer: Owen'’s Bridge

3 TSt

Candidate Answer: Wien’s Bridge

QID : 345 - Determine the required value of series resistance (in Ohms) to convert a galvanometer into a voltmeter of reading 0.4 volt range when the resistance of
the galvanometer is 40 ohms and the value of current for full-scale deflection is 4 mA.

AR B U 0.4 diee 391 Ue I dieeticR | URafid Ba & g oaan uferiy &1 g A (3| ) Fefid o3, Sia Aea-miex o1 uferiy 40 3| § 3R guf
AF W a8 F e fagad ¥Rt &1 7 4 fedi-viirR g1

Options:
1) 60

2) 50
3) 40

4) 30
Correct Answer: 60
Candidate Answer: 60

QID : 346 - What will be the sensitivity (in Ohms/volts) of a PMMC type voltmeter when the full-scale reading of the voltmeter is 240 V, the internal resistance of
the voltmeter is 200 kilo-Ohms and the series resistance connected to the voltmeter is 80 kilo-Ohms?

TreetiicR F gl AT HET 240 dee &, AeeHicR B ARk TRy 200 Fal-oim § 3R diecHier F o1 YW uferiy 80 fara ofim B, a9 dignur e"y dieetiey
DI Hdg=iierdn (3igH / dieew) H &1 gHir?

Options:

1) 1672.62

2) 1432.23

3) 1224.24

4) 1166.67

Correct Answer: 1166.67

Candidate Answer: [ NOT ANSWERED ]
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QID : 347 -

Determine the value of unknown inductance L,

{in mH) and the effective resistance R, (in ©) of inductor
respectively for the circuit given below, if no current
flows through the galvanometer (G).

ARy feT v gRgy # Had Weved L, (Feigalr #)
AR werrdt wfar R, (9 &) @ AT weEn PG %
afe, AR (G) ¥ FI5 fedd o yared @6l &

W &l

FRESHERS NOW

400

40 pF

Options:
1) 46, 20

2) 56, 30
3) 64, 46

4) 96, 40
Correct Answer: 96, 40
Candidate Answer: [ NOT ANSWERED ]

QID : 348 - What will be the value of reactive power (in VAR) of a circuit having power factor of 0.5, when the apparent power of the circuit is 80 VA?

0.5 I T ard uikay ot ufafrar=ie wfdd (dt.u.eR. ) Ta1 gnft, Sia uRuy 5 syl wfd 80 faw. €2
Options:

1) 48

2) 69.6

3)78.3

4)84

Correct Answer: 69.6

Candidate Answer: 69.6

QID : 349 - Determine the secondary voltage (in V) of a potential transformer when the value of the system voltage is 11,000 V, the turn’s ratio of the potential
transformer is 102 and the percentage voltage error of the transformer is 3 %.

m%mugﬁmw;wmm(wmﬁmﬁwmmmm 11,000 diee B, U iR & e &l 3urd 102 ¥ 3R iR @t ufaerd
e FfE 3% B

Options:

1) 102.5

2) 104.6

3) 108.8

4) 109.4

Correct Answer: 104.6

Candidate Answer: [ NOT ANSWERED ]


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


QID : 350 -

Determine the quality factor for Maxwell's
inductance-capacitance bridge given below

when the bridge is supplied by a frequency of 50 Hz.

Hardel &l Wehcd- TN T & [T aoTdedr &Reb
& Al iR #1 5 9 #1 50 géar &1 Hafed
ITgfia e S &

20 pF

Options:
1)0.3

2) 0.4
3)0.6

4)0.8
Correct Answer: 0.4
Candidate Answer: [ NOT ANSWERED ]

QID : 351 - In dc machine iron losses cause

dc W= ® g 31 I 7 el 22
Options:
1) heating in core
o amoH
2) loss in efficiency
& B BT
3) rise in temperature of ventilating air
T arg % a9 § gig g
4) all of the mentioned
Ieoifad it
Correct Answer: heating in core
o amoH
Candidate Answer: loss in efficiency
& H B

QID : 352 - Armature current at starting can be reduced by keeping

TN TIY TG TR SRH B GG TR URT ST Gl S Habel 82
Options:

1) Rf maximum and Ry minimum

Re 3HfRrpaH 3R R, =AqH

2) Ry maximum and R¢ maximum

R, 3fHaH 3R Ry Hfeman

3) Ry minimum and R¢ minimum

R, A 3R Ry GATH

4) R, maximum and R¢ minimum

R, 3fIHdH 3R Ry =ATH

Correct Answer: R, maximum and Rg minimum
R, 3fIHaH 3R Ry =ATH

Candidate Answer: R maximum and Ry minimum

Re 3HfRrpaH 3R R, =gAqH

QID : 353 - In dc motors, under leading pole tips flux density will

dc HIeR T, 37T @ & fid U T T-I-

FRESHERS NOW
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Options:
1) increase

2). decrease

3) either increase or decrease
QI AT g
4) None of the;e

Correct Answer: decrease

Candidate Answer: increase

QID : 354 - The field winding will be drawn at what degree?

&7 afE foran ofwr WR fRE=h Smwete
Options:

1) 60 degree

60 37T

2) 30degree

30 39

3) 90 degree

90 3

4) 180degree

180 3=

Correct Answer: 90 degree

90 33T

Candidate Answer: 180degree
180 3w

QID : 355 - Compensating winding is placed in the
UfaeTiRa afET Fgl e St 32

Options:

1) pole shoe

¢d e

2) armature core

TR P

3) main field

o &

4) all option are correct

Tt faded wet §

Correct Answer: pole shoe
¢d e

Candidate Answer: pole shoe
Hd e

QID : 356 - stepped cores are used in transformers in order to reduce

T HH B & U R & Qrorfa sie &1 e faan S g2
Options:

1) volume of iron

TR BT AT

2) volume of copper

qIS HT A

3) iron loss

IR

4) reluctance of core

BIS BT Uiy

Correct Answer: volume of copper
qid &7 A

Candidate Answer: iron loss

<5 g1

QID : 357 - In a transformer the resistance between its primary and secondary is

TBIR 7 59 it R fgdae & we fa uferiy gt 82
Options:
1) zero

A

2) 1 ohm

18

3) 1000 ohms

1000 39

4) infinite

3d

Correct Answer: infinite
3fid

FRESHERS NOW
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Candidate Answer: zero

RS

QID : 358 - In a transformer zero voltage regulation is achieved at a load power factor which is

TR # b HR Wfa T[Urs W Y dieest (SO UT febar ST 82
Options:
1) zero

FRESHERS NOW

A
2) leading
ST

T
4) Unity
ECaN

3) lagging
et

Correct Answer: leading

Candidate Answer: zero

RS

QID : 359 - In the induction motors the torque is directly proportional to the

IRoft Arex §, Samguf fues FuruTd gidr 82
Options:
1) slip¥s
3
2) higher slip values

EEREUE R
3) Voltage Slip
el Juur

4) lower slip values

B g A
Correct Answer: higher slip values
IS YT AL

Candidate Answer: Voltage Slip

QID : 360 - In induction motor If we remove one phase for instance, two terminals will have 'Y' phase and one will have 'B' phase called

IRt HieR #, o B FepTa T W IR0 F for &t et § 'y Bt ok T efifa § 1B Ot g, 39-
Options:
1) AC dynamic Braking
AC T SRYEH HET oI §
2) plugging
R FET S §
3) cascade breaking
SR HET Il §
4) increasing motor torque
AR el g1 el el @
Correct Answer: AC dynamic Braking
AC T SRYE HET oIl §

Candidate Answer: [ NOT ANSWERED ]

QID : 361 - In a capacitor start single-phase induction motor, the capacitor is connected

TYTRA SR THa-Tet IR AR H, Geriea-
Options:

1) in series with main winding

T e % ar 9oft & g1 g §

2) in series with auxiliary winding

TEH AT & Wiy A & 1 g &

3) in series with both the windings

T T 3 gy AR A ST Elar ®

4) in parallel with auxiliary winding

TETD qrEFET & Gy U FU Y <1 g ©
Correct Answer: in series with auxiliary winding
eI ATEfET & ary goft & et N ®

Candidate Answer: in series with auxiliary winding

eI arEfET & gy Auht F o1 € &

QID : 362 - If running winding of a single-phase induction motor is short circuited

Tt v ar-thot ORUft Hiex @t urdt AT @y ufdd g -
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Options:
1) run slower
it Tt
2) spark at light loads
FHH YR IR ST THieT grft
3) draw excessive current and overheat
Ig rafiies WA § YRT Wi T 8 Sy
4) None of these
P ;

Correct Answer: None of these
T I B T
Candidate Answer: draw excessive current and overheat

g i A B YRT Wik 7TH g1 et

QID : 363 - Short-circuiter is used in

TY-UUF BT SHITTS faH o S 32
Options:
1) repulsion induction motor

2) repulsion motor

3) repulsion start induction run motor
SRY TR I Hiex

4) None of these

TIPS T

Correct Answer: repulsion start induction run motor
SRY TR I Hiex

Candidate Answer: repulsion start induction run motor
SRY TR I AR

QID : 364 - Which of the following statements regarding repulsion-start induction motor is incorrect ?

Ty 3Ry IRult Hiex & Teiy H Fg H T HH-71 HU 39T 82

Options:

1) It requires more maintenance of commutator and other mechanical devices
3R 3 FifF IUBRON & 3 TWRAIG BT HMITHT gl &

2) It makes quite a bit of noise on starting

Tg 3R I THT BIHT A I §

3) In fractional horse power motors, it has replaced the capacitor motors

iR SryIa Hie B S5 TR Hied] B eI R fe

4) It is not easily reversed

U Tgordl Y Sohid e} fobar S et

Correct Answer: In fractional horse power motors, it has replaced the capacitor motors

SifRr SR Hied! T WeneA Hied) ) TR A foa &

Candidate Answer: It is not easily reversed

T TgoldT 9 Sepitid T8t fbar o Tebell

QID : 365 - In a two value capacitor motor, the capacitor used for running purposes is

fg At Gefea Miex , 9am & 320 3 5y JulRa o1 sxamma far Siar 82
Options:
1) air capacitor
g HeTRA
2) paper spaced oil filled type
B SR dd URT THR
3) ceramic type
YhR
4) a.c. electrolytic type
a.c. fagaq smuget UeR

Correct Answer: paper spaced oil filled type
BTSSRI del HRT TPR

Candidate Answer: [ NOT ANSWERED ]

QID : 366 - Speed control of a universal motor is achieved by

e Hex &t T Ho FEfd o S 8?
Options:
1) varying field flux with tapped field windings
e & IR & WY & Taa uiRafcid aas
2) connecting rheostat in series
3) applying variable voltage
FiecS Ugad HRb

4) all of these methods

| 9t wfoai @

Correct Answer: all of these methods
0 O o usfaat @
Candidate Answer: all of these methods

T @ o vl @

FRESHERS NOW
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QID : 367 - In any case, where the height of transmission tower is increased

ot oft o H, TERUT SR Y HATS IEH WR-

Options:

1) the line capacitance and inductance will not change

TS iET 3R IR & f

2) the line capacitance and inductance will decrease

T3 YR 3R IR HH B S

3) the line capacitance will decrease and line inductance will increase
AT eifar gt ofR e IR S

4) the line capacitance will decrease but line inductance remain unchanged

AT YTRAT it TReg A8 IR

Correct Answer: the line capacitance will decrease but line inductance remain unchanged

TR YIkaT gt TReg e Wb

Candidate Answer: the line capacitance will decrease but line inductance remain unchanged

TR YTRAT gt TR=g e IR

QID : 368 - For transmission lines, steel poles are generally used because:

A. It has more mechanical strength and more life
B. It occupies less space and give better appearance
C. It has high cost

TR T1E & 7Y WIYRUG: ST P TN Wgad U o €, aif:

A. 35! Ti3e Taadr i gt § 3R prifera 3ifie giar g
B. 3 HH ST IR IgaR 3THY T H3d &
C. S9! aFTa Sif® Bt §

Options:

1) Only A

PHad A

2) Only B

%dd B

3) Both Aand B

A 3R B @I

4) Only C

&Had C

Correct Answer: Both A and B

A 3R B gt

Candidate Answer: Only A
Fad A

QID : 369 - A synchronous generator generates reactive power while working at

TS e fhd sfae & H1f drd T e Jifekd Ieast vl 82
Options:
1) zero power factor

I XMfad Ieh
2) lagging power factor

YT e T[Ordh

3) leading power factor
ST Wifad T
4) Any of these
4 P o
Correct Answer: leading power factor
ST fad U
Candidate Answer: lagging power factor

Tyt =T oI

QID : 370 - The bedding of a cable consist of
HT TR Y &1 giell 32

Options:
1) jute

2) hessian cloth
cle
3) Both jute and hessian cloth

¢ 3R TTe gl @

4) None of these

ST A PIE el

Correct Answer: Both jute and hessian cloth
¢ 3R eTe gl @

Candidate Answer: Both jute and hessian cloth

¢ 3R T gl @
QID : 371 - Setting depth of poles is
T B I HA B TERTS-
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Options:

1) 1/4 part of the length of pole
TN P @R B 1/4 B 7

2) 1/5 part of the length of pole
WY B AaTE BT 1/5 Bt ©

3) 1/8 part of the length of pole
TN 1 dE B 1/8 B ©

4) 1/2 part of the length of pole
TN P G B 12 B §
Correct Answer: 1/5 part of the length of pole
TN F 7@ B 1/5 St 7

Candidate Answer: [ NOT ANSWERED ]

FRESHERS NOW

QID : 372 - The protective device which will not open the circuit even after 4 h when the current is 1.5 times the excess of the rated current will be

Fuffd YRT I URT 1.5 1 89 W 4 °e & 18 Hft uRay 1 A1 Wiew arar GRem SUSHR0 HH-41 32

Options:
1) HRC fuses

HRC R[St
2) cartridge fuses

Pl TSt

3) circuit breakers
gikay

4) rewirable fuses

T R AT A /S

Correct Answer: rewirable fuses
U AR T A TS
Candidate Answer: HRC fuses

HRC RSl

QID : 373 - Power factor of fluorescent lamp is about

gfeiet ST 1 e Toreh ST fbeT Bl 82
Options:
1) zero

A
2) 0.5lead

0.5 3T
3) unity
ECAH

4) 0.5 lag
0.5 TyfeR

Correct Answer: 0.5 lag
0.5 ggfea

Candidate Answer: unity

QID : 374 - Which type of fire extinguisher in not suitable for electric fire

fagaa i & g e yeR &1 iftrre g Sfid et g &2
Options:
1) foam extinguisher

2) carbon dioxide extinguisher
FIa SRHlass sifimes
3) Soda acid extinguisher

4) dry powder extinguisher
TP UI3SR
Correct Answer: Soda acid extinguisher

Candidate Answer: carbon dioxide extinguisher
FTe SRS TS

QID : 375 - Fuse is inserted series in the circuit and protect the equipment from

we &1 ooy § Joft & Uiy e IuaRr Bl i qRigr v s g2
Options:

1) High voltage

I e

2) High current

3 YRT

3) High power

I Qi

4) High energy

I S

Correct Answer: High current
3= URT

Candidate Answer: High current
3 YRT
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QID : 376 - In which portion of the transmission system faults occur most frequently?

TR YOI & b T H Ta i Ffeat gt 2
Options:
1) under ground cables

2) transformers

5) over head lines
S AR

4) alternators

Correct Answer: over head lines
S AR
Candidate Answer: transformers

QID : 377 - Which connect the consumer's terminals to the distribution

Iqiaar & el & faavor & B Shgar 32
Options:
1) distributors

2) service mains
3) feeder
BIsY

4) substation

Correct Answer: service mains

wfdw 7

Candidate Answer: service mains

QID : 378 - The earth pit should not be located near

RITE BT TG fra U T8 ST AR
Options:

1) roads

SSEd

2) rail tracks

3) pavements

Heuy

4) all option are correct

it

Correct Answer: all option are correct

Tt ey ot §

Candidate Answer: all option are correct

it foreT Tt §

QID : 379 - What will happen if field winding is disconnected accidently from rotating dc shunt motor?

off dc 2fe AR I &= IRFET B gdeTa e a U M W a1 g
Options:

1) motor suddenly off

TR 3EAF § d¢ gl omart

2) motor will run normally

HIex I ¥ § et

3) motor will run dangerously

HIeX RAS &7 ¥ Faiiht

4) any of the above

IR & A HIg ot

Correct Answer: motor will run dangerously
HIeX WRATS &7 ¥ Taiht

Candidate Answer: motor will run dangerously
HIex FaRA &1 § et

QID : 380 - In dc generator, wave winding is used for which type of machines

dc STReR H, T AT o7 SR b UbR ot 7= § fbar S g2
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Options:

1) high voltage low current

I dlee™ A URT

2) high current low voltage

3 URT T

3) high voltage high current

I diecel 3 URT

4) low voltage low current

A A g YR

Correct Answer: high voltage low current
I e A URT

Candidate Answer: high voltage low current
I dleee G URT

QID : 381 - The space to height ratio in illumination lies between

Tt T SfeRTet 3R HaTE HT SUId frad A g 82
Options:

1) 1 to 200

131200

2)1to20

1920

3)1to2

192

4) 1to 2000

13 2000

Correct Answer: 1 to 2

192
Candidate Answer: [ NOT ANSWERED ]

QID : 382 - Moulded case circuit breaker is used for

TS Hu uRuy e &1 3w s o faar s 82
Options:

1) over load and short circuit protection

SHfAUR SR Y ufRay JRe

2) over load protection

SHFAUR FR&m

3) short circuit protection

g IRUY JR&M

4) open circuit protection

o ukuy &) JRET

Correct Answer: over load and short circuit protection
SHfAUR SR Y ufRay FRe

Candidate Answer: over load and short circuit protection

HfIHR 3R 7Y TRTY TRET

QID : 383 - Which of the following will need lowest level of illumination?

9 o 9 forads Ry =g TR &t UEiit &t SHTaxadhdr g1i?
Options:

1) Displays

RN

2) Fine engraving

Y&H TaBTRI
3) Railwax platform
WewH

4) Auditoriums
Correct Answer: Railway platform

Candidate Answer: Fine engraving

e TabTRit

QID : 384 - A mercury vapour lamp gives

URE I AU F HH-9T YHTT U il 82
Options:
1) Pink light
iecany
2) Yellow light
foa yer
3) Greenish blue light
T A U
4) White light
A yHTR
Correct Answer: Greenish blue light
KGR CaR

Candidate Answer: Yellow light
fOa v
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QID : 385 - Heat is transferred simultaneously by conduction, convection and radiation

YaTgdh , Yag 3R fAfhR0r GRT UHany ST &1 SR |
Options:
1) Inside boiler furnaces
FiseR HE & feR o ST §
2) During melting of ice
g foman ST §
3) Through the surface of the insulated pipe carrying steam
I yaTfed R aTel faiaTet UIgy & S & HieH ¥ 3 Sar g
4) From refrigerator coils to freezer of a refrl%erator

st 1 psferdl I bl & wioR # fabar wiren

Correct Answgr: Inside boiler furnaces
SR HEl & 3R fpar e §
Candidate Answer: Inside boiler furnaces

STEeR 1t & fex foba o §

FRESHERS NOW

QID : 386 - Heavy-duty steel-works cranes having wide load variations are equipped with

FUF YR URad gad Srfie fewres gward-fmfor s o-
Options:

1) Dc series motors

Dc it Aiex grar §

2) Plain squirrel cage induction motors

a1} firoRt IRoft Hiex g @

3) Wound-rotor induction motors

ES-IeR Rl HeR BT ¥

4) Synchronous motors

Correct Answer: Dc series motors

Dc 3t Hiex e §

Candidate Answer: Synchronous motors

QID : 387 - In induction heating

TRUT a 8-

Options:

1) Heat is produced due to currents induced in the charge by electro-magnetic action.
fagad-deeta far & Smaw o IRT URTeit F HRU ST IO Bt 2

2) The resistance of the charge must be low and voltage applied must be high in order to produce sufficient heat
T I B P AT AT BT URIY A ST 11T 3R W dlecst e T ey

3) Magnetic materlals can be easily treated in comparison to non-magnetic materials.

eI Uerll F ga W Jaig el &Y e S ¥ SU=Rd fhar S G 1

4) all option are correct

Correct Answer: all option are correct

Tt ey ot §

Candidate Answer: all option are correct

Tt fopeT Tt §

QID : 388 - The depth of penetration , in the case hardening of a steel pulley, required is 105mm. The relative permeability is unity and the specific resistance for
steel is 5x10”7 Q-m. Determine the frequency required.

%wa%aﬂfm——ﬁ$&naw$€aﬁmmﬁ 105mm TR 38 B ARSI BIel § | STUTET TR 3HTs § SR FWA 1 AT UfeRiey 5x107 Q-m B 1 SIS Mgy
Hif)

Options:
1) 56.3KHz

2) 46.7KHz
3) 52.7Khz

4) 58.6KHz
Correct Answer: 56.3KHz
Candidate Answer: [ NOT ANSWERED ]

QID : 389 - When an electron breaks a covalent bond, and moves away

FAdC & Tgadreh Y dASHR g aH WR-
Options:

1) the semiconductor becomes conductor
SHefaTaE e & STl §

2) a valency is created in broken covalent bond
T BU TEuaIS 3EY W TIeihdl S 81 Wl §
3) the conductivity of the material increases
yeref ) aTeedr s¢ S @

4) More ions are produced

3ifeie 3T I7 81 &
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Correct Answer: a valency is created in broken covalent bond

T gU TEYdIS 3MeY § Ygreibar I B Sl §

Candidate Answer: the semiconductor becomes conductor

SfefaTer ATeP o T §

QID : 390 - A zener diode is invariably used with

IR SIS $T KA e d fbad Iy famar S 82
Options:
1) forward bias
Cippc
2) reverse bias
Clest
3) either forward bias or reverse bias
T 1 URATG RIS IR
4) zero bias
R 9"
Correct Answer: reverse bias
CIe
Candidate Answer: reverse bias
Sl

QID : 391 - In a full wave rectifier diode conduct for
ol o3 fepait o Srite-

Options:

1) one half cycle

% of I & o el g §

2) full cycle )

quf 9% & f Tafer giar &

3) alternate half cycle

THIR T & o Taferd giar §
4) None of these

=8 A BIE T
Cor;rect Answer: glternate half cycle
TSR o5 F o Tanferd g §

Candidate Answer: full cycle

quf I & o aferd gl ©
QID : 392 - Icgq is related to Icgg by

Icko, Icpo ¥ Y TR Tfid 82
Options:
1) Iceo = (B+ lcso

2) Iceo = Icgo

3) Iceo = a.Iceo

4) None of these

T A IS T

Correct Answer: Icgo = (B+ 1)Icgo
Candidate Answer: Icgo = a.Icgo

QID : 393 - If the temperature increases, the value of Vgg

Y §¢1 R Vge &I AF-
Options:
1) remains the same
THM g 7
2) is increased
T AT
3) is decreased
e oIl §
4) None of these
KEIEEG]
Correct Answer: is decreased
e oIl §
Candidate Answer: is decreased
e ST §

QID : 394 - In case of the CE amplifier the output voltage waveform is

CE TWelipRR & aa ¥, e diees aer-
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Options:

1) in phase with input voltage waveform

=it A o & ey e B @l §

2) always lag by 90° with respect to input voltage wave form

R dieest aR @Y ger A Fed 90° Ui & §

3) always lagging by 180° with respect to input voltage waveform
i dieest o Y gor | Weg 180° Ui & §

4) always lagging by 90° with respect to input voltage wave form
R dieest aRT Bt ger A Fed 90° Ui T8 B

Correct Answer: always lagging by 180° with respect to input voltage waveform
A=t At o @t g A Wed 180° Ui & §

Candidate Answer: [ NOT ANSWERED ]

QID : 395 - In a synchronous motor the maximum power developed occurs at a coupling angle of

THIaE dieR H, frd gme Sivr W sifiiesdy e 3w gt 82
Options:
1) 180°

2) 90°
3) 60°

4) 30°
Correct Answer: 90°
Candidate Answer: 90°

QID : 396 - Which of the following motors will be used in electric clocks

fagad ufedl & a7 ¥ forw dier &1 Swaard fasan Smem?
Options:

1) D.C. series motor

D.C. #uft Hiex

2) D.C. shunt motor

D.C. X AIlcX

3) A.C. synchronous motor

A.C.

4) A.C. induction motor

A.C. IRUlt HieR

Correct Answer: A.C. synchronous motor
A.C.

Candidate Answer: A.C. synchronous motor
A.C.

QID : 397 - The power developed by a synchronous motor will be maximum when the load angle is___.

TS HIeR R I MR {5 YR B0 W 3ifirad giell 82
Options:

1) 45°

2) 90°

3) 120°

4) 0

Correct Answer: 90°

Candidate Answer: 90°

QID : 398 - In a synchronous motor, damper windings are placed on

TIPS AR H, v AERET Hel T Wt 32
Options:

1) rotor shaft

qufes TR

2) stator frame

3) pole faces

4) None of these

T A BIE 6T

Correct Answer: pole faces
49T

Candidate Answer: pole faces

LR

QID : 399 - In a three-phase synchronous motor, if one of the winding is short-circuited then the motor will

H-Urel JeawTiad Hic H, Td arefeT &l ag-uiid fbT 9 WR HieR-
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Options:

1) run at 1/4 of synchronous speed

1/4 JEOHIAS a1 R Tl

2) not start

3RY &l it

3) run with excessive vibrations

SHfARad Hu & Ty Ferht

4) rotate at less than the rated load
Yikd YR & gan & &1 gula sft

Correct Answer: not start

3R T gt

Candidate Answer: run at 1/4 of synchronous speed

1/4 TAPIAD a1d OR Tt

QID : 400 - The magnitude of stator back e.m.f. (Eb) of a synchronous motor depends on

TABICD TR F Wex 9 HT URAT 8. TA.% (Eb) g wR FaRk v 82

Options:

1) d.c. excitation only

Had d.c. JoH R

2) load on the motor

AR & R W

3) both the speed and rotor flux

1 3R golfes Tead ST IR

4) None of these

T A B Tol

Correct Answer: d.c. excitation only

Pad d.c. Ao W

Candidate Answer: boﬁh the speed and rotor flux
T 3R Yufes Tera gl IR
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